Key to Hub Dimensions

Prop
Model

69CK
70CM6
70CM7
72CC
72CK
72FM8
74CK
74DC
74DM6
74DM7
74DR
76AM6
76AK
76EC
76EM8

Flange
Type

SAE No.1 Flange

SAE No.2 Flange, 3/8" Attaching Bolts
SAE No.5 Flange, 7/16" Attaching Bolts
SAE ARP-502 Flange

SAE No.1 Flange

SAE No.6 Flange, 1/2" Attaching Bolts
SAE No.1 Flange

SAE ARP-502 Flange

SAE No.2 Flange, 3/8" Attaching Bolts
SAE No.5 Flange, 7/16" Attaching Bolts
SAE No.3 Flange

SAE No.2 Flange, 3/8" Attaching Bolts
SAE No.1 Flange

SAE ARP-502 Flange

SAE No.6 Flange, 1/2" Attaching Bolts

Hub
Thickness

3.190"
3.437"
3.437"
3.190"
3.190"
3.437"
2.750"
3.437"
3.437"
3.437"
3.437"
2.750"
2.750"
3.560"
3.560"

Bushing
Dia.

.630"
.630"
.630"
None
.630"
752"
.630"
None
.630"
.630"
.630"
.630"
.630"
None
752"



	Sheet1

